
Left Leg

Left Headboard 1

Pre-assembly:

Take out all parts and hardware from box.

Do not discard any content until assembly is complete to avoid accidentally discarding small parts or hardware.

Important safety instructions:

Please read carefully all instructions before assembly.
For your safety and ease, assembly by two or more adults is recommended.
Keep instructions for future use.

Side rails

Middle Rail

Right Headboard 

Right Leg

Footboard

1

1

1

1

2

1

4

13

Support Legs

Roll Slat



Lock Washers 5/16"  

Flat Washers 5/16"x19 
Alen Wrench  

Bolts Ø5/16'' x 1-1/8"L

Screw 1/8"x 1-1/8"L

Bolts  M8 x 30mm

Spanner


	AI Mercer QB 2
	AI Mercer QB  1



